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Question Number : 1 Question Id : 6801919012 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

As a science, which of the following does psychology use as its primary source of information:

1. common sense

2. systematically collected data

3. informal observation of the world around us
4. laypersons opinions

Options :

68019135501. 1
68019135502. 2
68019135503. 3

68019135504. 4

Question Number : 1 Question Id : 6801919012 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019135501. 1
68019135502. 2
68019135503. 3

68019135504. 4

Question Number : 2 Question Id : 6801919013 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Psychological research on everyday human concerns reveals that:

1. such topics are too complex to study

2. subjects will not volunteer for research on many topics

3. common sense beliefs are not always true

4, methods used in other sciences are not relevant to the study of human behavior.

Options:

68019135505. 1
68019135506. 2
68019135507. 3

68019135508. 4

Question Number : 2 Question Id : 6801919013 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019135505. 1
68019135506. 2
68019135507. 3
68019135508. 4

Question Number : 3 Question Id : 6801919014 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Conscious forcing of desires or thoughts out of consciousness is called :

1. Inhibition
2. Demal

. Suppression
4. Projection

Taa

Options :

680191355009. 1
68019135510. 2
68019135511. 3

68019135512. 4

Question Number : 3 Question Id : 6801919014 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
680191355009. 1
68019135510. 2
68019135511. 3
68019135512. 4

Question Number : 4 Question Id : 6801919015 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Personality is fived in the early vears of life and subject to little change thereafter.’ This view 1s
known as :

1. Historical Determinism
2. Interactionism

3. Cultural Background

4. Janteloven

Options :

68019135513. 1
68019135514. 2
68019135515. 3

68019135516. 4

Question Number : 4 Question Id : 6801919015 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68019135513. 1
68019135514. 2
68019135515. 3

68019135516. 4

Question Number : 5 Question Id : 6801919016 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which one of the following methods of reliability examines the performance of a Psychological
Test over time:

1. Test -Retest Reliability

2. Split Half Reliability

3. Inter Scorer Reliability

4. Alternate Form Reliability

Options :

68019135517. 1
68019135518. 2
68019135519. 3

68019135520. 4

Question Number : 5 Question Id : 6801919016 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019135517. 1
68019135518. 2
68019135519. 3

68019135520. 4

Question Number : 6 Question Id : 6801919017 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
Measures Explanation

w |mresa I The x'f_tlue rg_p_ea‘red maximum number of
times in a given series .

5 st e The extent of Individual Differences
around the Central Tendency.

C. |Mode ITI. |Average.

D. |Variability v The point above and below which lies

50% of the scores.

Choose the correct answer from the options given below:

(A)-(I).(B)-(1I). (C) - (III). (D) - (IV)
. (A)- (). (B) - (IIT). (C) - (IT). (D) - (IV)
(A)-(I).(B)-(I). (C) - (IV). (D) - (I1I)
(A) - (D). (B) - (IV). (C) - (D). (D) - (II)

fag b2 —

e

Options:

68019135521. 1
68019135522. 2
68019135523.3
68019135524. 4



Question Number : 6 Question Id : 6801919017 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. (A) - (I). (B) - (II). (C) - (IIT). (D) - (IV)
2. (A) - (I). (B) - (III). (C) - (I1). (D) - (IV)
3. (A)- (1), (B) - (1I). (C) - (IV), (D) - (III)
4. (A) - (III). (B) - (IV). (C) - (I). (D) - (I)

Options :

68019135521. 1
68019135522. 2
68019135523. 3
68019135524. 4

Question Number : 7 Question Id : 6801919018 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

We percieve a person's face as a whole, and not as a collection of eyes. nose. mouth ete. A face
therefore 1s an example of :

1. Schema
2. Cognition
3. Heuristics
4. Gestalt



Options :

68019135525. 1
68019135526. 2
68019135527. 3

68019135528. 4

Question Number : 7 Question Id : 6801919018 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019135525. 1
68019135526. 2
68019135527. 3

68019135528. 4

Question Number : 8 Question Id : 6801919019 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The behavior of avoiding a noxious stimulus by a responder 1s called:

1. Avoidance Learning

2. Observational Learning
3. Cathartic Learning

4., Insight Learning

Options:

68019135529. 1



68019135530. 2
68019135531. 3

68019135532. 4

Question Number : 8 Question Id : 6801919019 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019135529. 1
68019135530. 2
68019135531. 3
68019135532. 4

Question Number : 9 Question Id : 6801919020 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The forgetting of new learning due to previously acquired material is called :

1. Interference
2. Interpolation
3. Interlocution
4. Interaction

Options:

68019135533. 1
68019135534. 2
68019135535. 3
68019135536. 4



Question Number : 9 Question Id : 6801919020 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

gd H Sifold HHH & SRUTAU SR 6T [GER0 Sl o
1. HARY
5 day)e

3. 9drg4d

4, 3T
Options:
68019135533. 1
68019135534, 2
68019135535, 3

68019135536. 4

Question Number : 10 Question Id : 6801919021 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Information organised in Long Term Memory (LTM) stores is aided by the reminders which
direct memory search to appropriate parts of the LTM repository. These are called:

1. Retrieval Cues

2. Retrieval Errors

3. Elaborative Cues

4. Subjective Errors
Options :
68019135537. 1
68019135538. 2
68019135539. 3

68019135540. 4

Question Number : 10 Question Id : 6801919021 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019135537. 1
68019135538. 2
68019135539. 3
68019135540. 4

Question Number : 11 Question Id : 6801919022 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The cat which meows to a doorbell and not a phone ring 18 exhibiting the learning phenomena

of:

. Stimulus Latency
Stimulus Discrimination
Stimulus Modification
Stimulus Organisation

B I e

Options :

68019135541. 1
68019135542, 2
68019135543. 3

68019135544. 4

Question Number : 11 Question Id : 6801919022 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1
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Options :

68019135541. 1
68019135542. 2
68019135543. 3
68019135544. 4

Question Number : 12 Question Id : 6801919023 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Assigning test conditions to one group of participants while keeping others as neutral to test the
effect of variable under study 1s a practice in research. The group not to assigned test conditions
would be known as:

1. Experimental Group
2. Measurement Group
3. Control Group

4. Social Group

Options :

68019135545. 1
68019135546. 2
68019135547.3
68019135548. 4

Question Number : 12 Question Id : 6801919023 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019135545. 1
68019135546. 2
68019135547. 3
68019135548. 4

Question Number : 13 Question Id : 6801919024 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The schedule of reinforcement in which reinforcement occurs only after a fixed number of
responses have been emitted 1s called:

1. Fixed Interval Schedule

2. Fixed Ratio Schedule

3. Variable Interval Schedule
4. Variable Ratio Schedule

Options :

68019135549. 1
68019135550. 2
68019135551. 3
68019135552. 4

Question Number : 13 Question Id : 6801919024 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019135549. 1
68019135550. 2
68019135551. 3
68019135552. 4

Question Number : 14 Question Id : 6801919025 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

When Libido is attached to or invested in an object, it is known as :

. Catharsis
. Ego Ideal
3. Cathexis
4. Anxiety

I =

Options :

68019135553. 1
68019135554. 2
68019135555. 3

68019135556. 4

Question Number : 14 Question Id : 6801919025 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68019135553. 1
68019135554, 2

68019135555. 3

68019135556. 4

Question Number : 15 Question Id : 6801919026 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The school of Psychology which aimed to study the adaptive functions of the mind is called:

1. Functionalism

2. Structuralism

3. Gestaltism

4. Behaviorism
Options :
68019135557. 1
68019135558. 2
68019135559, 3

68019135560. 4

Question Number : 15 Question Id : 6801919026 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68019135557. 1
68019135558, 2
68019135559, 3

68019135560. 4

Question Number : 16 Question Id : 6801919027 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

What can be caleulated by comparing the performance of those who have obtained very low test
scores with those who have obtained very high test scores ?

1. Discrimination Index

2. Difficulty Index

3. Item Characteristic Curve
4. Item Bias

Options :

68019135561. 1
68019135562. 2
68019135563. 3

68019135564. 4

Question Number : 16 Question Id : 6801919027 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019135561. 1
68019135562. 2
68019135563. 3
68019135564. 4

Question Number : 17 Question Id : 6801919028 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Excessive competitive drive even when it is unneccessary. is observed in which of the following
types of personality ?

1. Type A
2. Type B
3. Type C
4. Type D

Options :

68019135565. 1
68019135566. 2
68019135567. 3

68019135568. 4

Question Number : 17 Question Id : 6801919028 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019135565. 1
68019135566. 2
68019135567. 3
68019135568. 4

Question Number : 18 Question Id : 6801919029 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

In Hans Selye's General Adaptation Syndrome. the final stage is:

. Recharging
. Coping

3. Exhaustion
4. Resistance

I =

Options:

68019135569. 1
68019135570. 2
68019135571.3
68019135572. 4

Question Number : 18 Question Id : 6801919029 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019135569. 1
68019135570. 2
68019135571. 3

68019135572. 4

Question Number : 19 Question Id : 6801919030 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following questions would be of most interest to a cognitive psychologist?
(A) How does a child acquire the concept of color?

(B) Are introverted people more likely to be high self-momnitors?

(C) What mechanisms are invoked in hunger?

(D) How is the unconcious represented in dreams?

Choose the correct answer from the options given below:

1. (A) only

2. (A) and (C) only
3.(C) and (D) only
4. (D) only

Options :

68019135573. 1
68019135574. 2
68019135575. 3

68019135576. 4

Question Number : 19 Question Id : 6801919030 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019135573. 1
68019135574. 2
68019135575. 3
68019135576. 4

Question Number : 20 Question Id : 6801919031 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Your weekly visit to your psychoanalyst begins with instructions to " say whatever comes into
your mind", Which technique 1s being used by the psychoanalyst?

1. Free Association

2. Introspection

3. Behavioral Conditioning
4. Trial and Error Learning

Options :

68019135577. 1
68019135578. 2
68019135579. 3
68019135580. 4

Question Number : 20 Question Id : 6801919031 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options:

68019135577. 1
68019135578. 2
68019135579. 3

68019135580. 4

Question Number : 21 Question Id : 6801919032 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Ravi believes that experiences throughout lus life continually change his personality. Which
theorist would probably net agree with it?

1. B.F. Skinner
2. Ivan Pavlov

3. Sigmund Freud
4. John B. Watson

Options :

68019135581. 1
68019135582. 2
68019135583. 3

68019135584. 4

Question Number : 21 Question Id : 6801919032 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1
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Options:

68019135581. 1
68019135582. 2
68019135583. 3
68019135584. 4

Question Number : 22 Question Id : 6801919033 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

What kind of psychologist would be most likely to conduct a study of challenges i problem-
solving skills with increasing age?

1. Developmental
2. Community
3. Organisational
4, Personality

Options :

68019135585. 1
68019135586. 2
68019135587. 3

68019135588. 4

Question Number : 22 Question Id : 6801919033 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Y YR & THICI® & gRI gHI?

1. o E®

2. g1

3. JBATHD
4. Tfadd

Options :

68019135585. 1
68019135586. 2
68019135587. 3

68019135588. 4

Question Number : 23 Question Id : 6801919034 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The field of Artificial Intelligence 1s most closely related to which psychological approach ?

1. Psychoanalytic

2. Behavioral

3. Cognitive

4. Social
Options:
68019135589. 1
68019135590. 2
68019135591. 3

68019135592. 4

Question Number : 23 Question Id : 6801919034 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



ST g &1 &7 9 THIaRH® SN & Hallie Hec g2
1. OIfaReues
2. TAERUD
g
4. grHTfSTH
Options :
68019135589. 1
68019135590. 2
68019135591. 3

68019135592. 4

Question Number : 24 Question Id : 6801919035 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following method relies least on representative sampling?

. Experiment

. Survey

3. Case Study

4. Longitudinal Study

I =

Options :

68019135593. 1
68019135594, 2
68019135595. 3
68019135596. 4

Question Number : 24 Question Id : 6801919035 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



FafeiEaa § 9 oF I 3l ufaFeras ufagsl wR gaad MR sxdi g 2

1. 94T

2. A&

3. Y AT

4. 3FGY] ST

Options :

68019135593. 1
68019135594, 2
68019135595. 3
68019135596. 4

Question Number : 25 Question Id : 6801919036 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Imagine you are conducting an experiment to test the effects of videogaming on learning and
attention. You select four groups A, B . C and D with following Video Gaming Hours.
Which of the following group(s) serves as a Control Group in the Experiment?

(A). Group A -No Video Gaming

(B). Group B- Video Game for 1 hour

(C). Group C -Video Game for 3 hours

(D). Group D - Video Game for 6 hours

Choose the correct answer from the options given below:

68019135597. 1
68019135598. 2
68019135599. 3
68019135600. 4

Question Number : 25 Question Id : 6801919036 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1

el DI e 37T SHETH T4 3faeT W HSTmfHT & THTal BT Rigw o3 & iU 1@
;mﬁﬂ%ﬂlﬁél 31 Fafafed difsa iftr g & sy AR wgl o & f iR S w19
r
Ferfcad & 9 o1 1 THg WO & A0 Ue T30 958 &1 )6 Yo/ a3l o7
(4) T 0T difsa AT T
(B) qu §l-1 92 & feru difsar g
(C) U Hl-aifsar 71 3 42 & forw
(D) U Si-6 92 B1 41l 70
T[4 e fodedi 5 9 T5l SR A |

1.%ad (B) IR (D)
2HAA(C)
3.(A), (B), (C) 3R (D)
4. dd (A)

Options :

68019135597. 1
68019135598. 2
68019135599. 3

68019135600. 4

Question Number : 26 Question Id : 6801919037 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which type of measures are EEG and GSR?

1. Self Report
2. Behavioral

. Physiological
4. Projective

L]

Options :

68019135601. 1
68019135602. 2
68019135603. 3
68019135604. 4



Question Number : 26 Question Id : 6801919037 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Sooll AR SIUYR (&9 ISR & 39F 82

1. 3TH-Uldag
2. oddeRYidp
3 3F
4. gerdi

Options :
68019135601. 1
68019135602. 2
68019135603. 3

68019135604. 4

Question Number : 27 Question Id : 6801919038 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Sensory 1s to Motor as Receptor is to:

1. Axon

2. Dendrite
3. Effector
4. CNS

Options :

68019135605. 1
68019135606. 2
68019135607. 3

68019135608. 4

Question Number : 27 Question Id : 6801919038 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1
Tadl & forg § o e, 991 gt RApR & e &:
1. &fdd
2. TG T
3. UHIdd
4. WTAH
Options :
68019135605. 1
68019135606. 2
68019135607. 3

68019135608. 4

Question Number : 28 Question Id : 6801919039 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following 1s not a part of the Nervous System ?

1. Somatic

2. Sympathetic
3. Symbolic

4. Central

Options :

680191356009. 1
68019135610. 2
68019135611. 3

68019135612. 4

Question Number : 28 Question Id : 6801919039 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Frafafad d 9 ®F 91 dBEe dF & e 71 82
1. PIASH
2. FETfaqet
3. YdipTdD
4. Pl
Options :
68019135609. 1
68019135610. 2
68019135611. 3

68019135612. 4

Question Number : 29 Question Id : 6801919040 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

You are walking through a forest and a bear jumps out at you. The Nervous System that 1s
immediately called into play is the:

1. Glial System

2. Parasympathetic System
3. Sympathetic System

4. Somatic System

Options :

68019135613. 1
68019135614. 2
68019135615. 3
68019135616. 4

Question Number : 29 Question Id : 6801919040 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



1Y U ST 9§ TR X6 & SR U HTT 31U TR Sl § | A1 o3 1 dl g ol @i &
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1. fremnda

2. TRI-3d i ot
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4, DS YUl

Options :

68019135613. 1
68019135614. 2
68019135615. 3

68019135616. 4

Question Number : 30 Question Id : 6801919041 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following parts of a television system 1s analogous to a dendrite?
(A). TV Transmaitter

(B). TV Transmitter's Antennae

(C). TV Set's Antennae

(D).TV Set

Choose the correct answer from the options given below:

1. (A). (B) and (D) only.
2. (C) only.
_(A). (B). (C) and (D).
4. (D) only.

Laa

Options :

68019135617. 1
68019135618. 2
68019135619. 3

68019135620. 4

Question Number : 30 Question Id : 6801919041 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Coifae voma & Fafiiad § ¥ F I 4 MRS & 49 82
(A) TIdl TiEHTeR

(B) idl TiYHIER BT USHI

(C) Ttal I &I U

(D) ¢1dl ¥e

- fau e fasedl O 9 el SR I |

1. %4d (A), (B) 3R (D)
2. %Hdd (C)

3. (A). (B). (C) 3R (D)
4. $ad (D)

Options :

68019135617. 1
68019135618. 2
68019135619. 3

68019135620. 4

Question Number : 31 Question Id : 6801919042 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

An Action Potential 1s accompanied by :

1. Cell's interior becoming positive
2. Cell's interior becoming negative
. Change from gray matter to white matter
4. Change from white matter to gray matter

L]

Options:

68019135621. 1
68019135622. 2
68019135623. 3
68019135624. 4

Question Number : 31 Question Id : 6801919042 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

fopdT faHa & Ty

I BT ATIRG YT Y-TED 8l ol ©
I BT ATIRG YT HBUNES &l oidl &
IR G0 ¥ 4d 5od § ukad- gidl ©
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Options :

fas o —

=

68019135621. 1
68019135622. 2
68019135623. 3
68019135624. 4

Question Number : 32 Question Id : 6801919043 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII

Forms of
Validity

Explanation

Pertains to whether the test appears valid

A |Content Validity | L : :
: to examiness who take it

A syvstematic examination of test to

Concurrent ; x
B lesa II. |determine whether 1t covers a
Validity . , :
= representative sample of behaviour.
C Predictive I Validity of a test with another measure
" | Validity " |mapping same behaviour.

Effectiveness of test in forecasting an

D. [Face Validity b, individual's performance.

Choose the correct answer from the options given below:

. (A) - (ID). (B) - (ITT). (C) - (IV). (D) - (I)
. (A) - (IV). (B) - (II). (C) - (III). (D) - (I)
(A) - (I). (B) - (II). (C) - (IV). (D) - (III)
4.(A) - (IIT). (B) - (IV) (C) - (D). (D) - (II).

b =

L]

Options :

68019135625. 1



68019135626. 2
68019135627. 3

68019135628. 4

Question Number : 32 Question Id : 6801919043 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Yaii-1 BT Yei-11 & F1Y forer & -
a1 =T
ENGIE o] AT
) U5 59 &1d § sy & fop o1 udiem
A |fqugarg audr | 1 |37 Tential & fou A1 udia gl @
5% IUR ug uunfad far T 2|

g Fuifa & & fou ogafud w9
B. [gHadl qyar | 1L [fe URI&r SUEER B URkiFEES

ufieal ol Hd B &
c |TEPUTES | S TEER B A AT [ o
SEEGH " |uiaT & |1y ud|
. [T & Fee & qaigaE | gdiamn
D. [qdgayar |1V T
1 feu e fosedl § 9 gl S I |

1. (A) - D). (B) - (III). (C) - (IV). (D) - (I)
2. (A) - (IV). (B) - (IT). (C) - (ITT). (D) - (I)
3.(A)- (D). (B) - (I). (C) - (IV). (D) - (II)
4. (A) - (II). (B) - (IV) (C) - (I). (D) - (II).

Options:

68019135625. 1
68019135626. 2
68019135627. 3
68019135628. 4

Question Number : 33 Question Id : 6801919044 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1

Which of the following structures is not part of the central core of the human brain?

. Medulla

. Temporal Lobe
3. Pons

4. Hypothalamus

I

Options :

68019135629. 1
68019135630. 2
68019135631. 3
68019135632. 4

Question Number : 33 Question Id : 6801919044 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fAafefad § 9 oF Wt Svg=1 aa aass & $og SR & 55 981 82
1. Hgar (Heam
2. IRagrfer
3.4919
4, BISUINIEY (34 R0qD)

Options :

68019135629. 1
68019135630. 2
68019135631. 3
68019135632. 4

Question Number : 34 Question Id : 6801919045 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



The brain's interpretation of neural impulses from receptors defines:

1. Sensation
2. Memory

3. Perception
4. Stimulation

Options :

68019135633. 1
68019135634. 2
68019135635. 3

68019135636. 4

Question Number : 34 Question Id : 6801919045 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tifedl & dfEaT 3maTi ot e o ooreT uRyIftd Sl &:
1. HaeAT
2. 9ffd

3. UHE

4, G519
Options:
68019135633. 1
68019135634. 2
68019135635. 3

68019135636. 4

Question Number : 35 Question Id : 6801919046 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The mimmum amount of light energy that must be present for vision 1s called:

1. Senszory Ratio
2. Lumens

3. Absolute Threshold
4. Critical Ratio

Options :

68019135637. 1
68019135638. 2
68019135639. 3

68019135640. 4

Question Number : 35 Question Id : 6801919046 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

€Y & Y Hiv[e UHT= ol &I YrdH |l Hearl o:
1. A<l ST

e

42%3@%

Options :

68019135637. 1
68019135638. 2
68019135639. 3
68019135640. 4

Question Number : 36 Question Id : 6801919047 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



The reduced sensitivity of sense organs to prolonged stimulation 1s called, sensory

1. Ratio

2. Overload

. Deprivation
. Adaptation

E S ]

Options :

68019135641. 1
68019135642. 2
68019135643. 3

68019135644. 4

Question Number : 36 Question Id : 6801919047 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Aol T P 1o & Yidl 352 3T Bl g Ydar=iadl & del oidl 6. §dal_
1. 3T
2. HfAUR
399
4. P

Options :

68019135641. 1
68019135642. 2
68019135643. 3

68019135644. 4

Question Number : 37 Question Id : 6801919048 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



The part of the eye that controls the size of the pupil, 1s known as:

. Cornea
Iris

3. Retina
4. Lens

Options :

I =

68019135645. 1
68019135646. 2
68019135647. 3

68019135648. 4

Question Number : 37 Question Id : 6801919048 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

& D1 g8 U Sl Yaail o PR DI HIHd Pal 5. el o:

1. BT (W55 Hed)
2. TR (YRR
3. e &fpuca)

4. 909

Options:

68019135645. 1
68019135646. 2
68019135647.3

68019135648. 4

Question Number : 38 Question Id : 6801919049 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Which of the following describes the path of a neural impulse from the sense organs to the
brain?

(A).Optic Nerve

(B). Receptor Cells

(C).Ganglion Cells

(D).Bipolar Cells

Choose the eorrect answer from the options given below:

(A). (B). (C ) (D)
- (A), (B? (C)
3.(B).(D ("'s}
4.(C II(B} (D) (A)

Options :

.
2

68019135649. 1
68019135650. 2
68019135651. 3

68019135652. 4

Question Number : 38 Question Id : 6801919049 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frafaiad & 9 o 99! 3T 3 Bfi 9o dEwT 3167 % A7 & Ui $Rd 82
(A) TP APT

(B) el IR

(C) =51 P

(D) feydra B

- fau e fosedl & 9§ 9el SR |

1. (A). (B). (C). (D)
2 ; (B). (D). (C)
),

(D). (C). (A)
(B). (D). (A)

(A
(

3.(B

4.(C
Options :
68019135649. 1
68019135650. 2
68019135651. 3

68019135652. 4



Question Number : 39 Question Id : 6801919050 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Perceiving a text as words on a page, rather than as black and white piece of paper. illustrates
which principle of Gestalt?

1. Contiguity

2. Perceptual Constancy
3. Similarity

4. Figure and Ground

Options :

68019135653. 1
68019135654, 2
68019135655. 3
68019135656. 4

Question Number : 39 Question Id : 6801919050 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

SIS & DI AR GG ChHS P qolld, U CRE Dl U U§ W Ys] & &0 H Yl H1,

TReTee o o Riegi i awial &2

1. Fdean
2. Wi R

3. HHMET
4. 31T 7 gBH

Options:

68019135653. 1
68019135654. 2
68019135655. 3
68019135656. 4

Question Number : 40 Question Id : 6801919051 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which perspective maintains that most human perceptual capabilities are inborn and that result
very little from learning?

1. Nativist

2. Interactionust
3. Behaviorist
4. Empiricist

Options :

68019135657. 1
68019135658. 2
68019135659. 3

68019135660. 4

Question Number : 40 Question Id : 6801919051 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o ulRviea H 1 T § [ S T=T Hid HeefUITe® &Il Salld § Ud e 9 984
Y 3T Blal 87

1. Yplerard]

2. 3dfgpamard]

3. IGERAE]

4, HHIAS!
Options :
68019135657. 1
68019135658. 2
68019135659. 3

68019135660. 4

Question Number : 41 Question Id : 6801919052 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

The concept of perceptual set comes out of which approach to perceptual processing?

1. Data Driven

2. Constructivist

3. Bottom Up

4. Direct
Options :
68019135661. 1
68019135662. 2
68019135663. 3

68019135664. 4

Question Number : 41 Question Id : 6801919052 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

UAEUIIET = 1 SR YHEUIES FHEhRUl & [ efPepIv & Haverdl] 2

1. AHa] Farfed
PRI CRIEIE

3. 9 - S

4. Y&
Options :

68019135661. 1
68019135662. 2
68019135663. 3
68019135664. 4

Question Number : 42 Question Id : 6801919053 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following 1s not a depth cue that 1s potentially available for only one eye?

1. Binocular Disparity
2. Motion Parallax

. Linear Perspective
4. Texture Gradient

L)

Options :

68019135665. 1
68019135666. 2
68019135667. 3

68019135668. 4

Question Number : 42 Question Id : 6801919053 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ﬁ%@@ﬁﬁ@ﬁ?-ﬂ@%ﬂﬁ-ﬁ%ﬁ%ﬁﬁ%@@%ﬂ@ g & fore Suaey

1, gt fawgan
2. T fSRIFR MU
3. 38% TRkuieg
4, SRR YfgUe

Options:

68019135665. 1
68019135666. 2
68019135667. 3
68019135668. 4

Question Number : 43 Question Id : 6801919054 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Which of the following 1s a true difference between learning and performance?
(A) Learning is observable: performance is not.

(B) Learning 1s permanent as compared to pertormance.

(C) Learning can be measured directly: performance must be inferred.

(D) Learning 1s easier to change than performance.

Choose the correct answer from the options given below:

. (A) and (D) only
.(B) and (C) only
. (B) only
4. (C) only

Ia =

L]

Options :

68019135669. 1
68019135670. 2
68019135671. 3
68019135672. 4

Question Number : 43 Question Id : 6801919054 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

FfaRad § U & H 91 i 3R e & did U araid® 3R o7
(A) T 3gdid- O B Fsae T81 8
(B) TFsaTe @1 qaT | Sifers R g
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(D) FreaTe @ gorT F 31 &1 uikafid e S 5
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1. %ad (A) 3R (D)

2. %ad (B) 3R (C)

3.%ad (B)

4.®ad (C)

Options :

68019135669. 1
68019135670. 2
68019135671. 3

68019135672. 4



Question Number : 44 Question Id : 6801919055 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Raghu was walking along the river when he was bitten by a snake. Now he 15 afraid not only of
snakes. but also of walking near the river. Tlis 1s an example of:

1. Operant Conditioning

2. Classical Condiditioning
3. Systematic Desensitization
4. Insight Learning

Options :

68019135673. 1
68019135674. 2
68019135675. 3
68019135676. 4

Question Number : 44 Question Id : 6801919055 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

XY el & =R 9@ Xg1 U1 a3 T 7 Pre femn| 3@ a5 7 S 9l  SRa1 3, dfew
ol & Y- 9o § H a1 31 U8 UF SR

1. JETaH SEEH

2. FAIRFpd g

3. TARYA SfHaaIBRl
4. 3fTE M

Options :
68019135673. 1
68019135674. 2

68019135675. 3

68019135676. 4

Question Number : 45 Question Id : 6801919056 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

During extinction, the 1s consistently omitted and the undergoes gradual reduction.

1.C8,. UCR
2. UCS, UCR
3. UCS.CR

4. CS, CR.

Options :

68019135677. 1
68019135678. 2
68019135679. 3

68019135680. 4

Question Number : 45 Question Id : 6801919056 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

[aqw 81H & aRM. FRRfoq@eme ok A dR-R o ot 3

Options :

68019135677. 1
68019135678. 2
68019135679. 3

68019135680. 4

Question Number : 46 Question Id : 6801919057 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



According to B. F. Skinner the basic mechanism for controlling human behavior 1s:

1. Punishment

2. Generalisation
. Extinction

4. Remnforcement

%]

Options :

68019135681. 1
68019135682. 2
68019135683. 3

68019135684. 4

Question Number : 46 Question Id : 6801919057 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

dl. U, R6=R & SFUR, B4 UagR &I FRFEd $ & AU g§HaK! o9 o
1.45
2. FHTBR
3. facgferep o
4, gETH

Options :

68019135681. 1
68019135682. 2
68019135683. 3

68019135684. 4

Question Number : 47 Question Id : 6801919058 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



A basketball player who 1s ready to shoot a free throw and 1s not distracted by the sight of the
crowd is demonstrating :

1. Sensory Overload
2. Selective Attention
3. Rehearsal

4. Relaxation

Options :

68019135685. 1
68019135686. 2
68019135687. 3
68019135688. 4

Question Number : 47 Question Id : 6801919058 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

U gRdeald Adrs! ol U6 i U1 ¢ H & ot daR 8 3R s &1 daa faaferd ol
gId1 8, I8 Weg- PR eI ¢

1. Fae HITYR
2. FEATES UM

3. R
4. Tar@A

Options :

68019135685. 1
68019135686. 2
68019135687. 3

68019135688. 4

Question Number : 48 Question Id : 6801919059 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Attention influences memory by:

. Limiting it.

. Directing it.

. Extinguishing 1t.
4. Enhancimg it.

b =

L]

Options :

68019135689. 1
68019135690. 2
68019135691. 3

68019135692. 4

Question Number : 48 Question Id : 6801919059 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

AU F(A P - FHIAd PRAT G 1

1. 39 9iffd o

2.5 FeRa ad
3. 39 faqed v

S A PIb

=

Options :

68019135689. 1
68019135690. 2
68019135691. 3

68019135692. 4

Question Number : 49 Question Id : 6801919060 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



If you look up the address of a person you have never visited before and three minutes later can
1o longer remember the address. you should conclude that the information was probably held in

1. Procedural Memory
2. Short Term Memory
3. Long Term Memory
4. Schema

Options :

68019135693. 1
68019135694 2
68019135695. 3

68019135696. 4

Question Number : 49 Question Id : 6801919060 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

afe 3y ot U3 afd 1 o 3a § ford e ven ol Tet S € ek diH fire arg
131G Tel <gal 2. o It 7g s farern afet i TreR! s su it g ot

1. Wi g Fid
2. ScTPIferd Hid
3. i Hid
4. T
Options :
68019135693. 1
68019135694, 2
68019135695. 3

68019135696. 4

Question Number : 50 Question Id : 6801919061 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LIST1I LISTII
Tyvpe of Memory Description
Procedural T —
Misncis I |Deepest level of processing
Sensory Memory I[I. |Memory of an event

Semantic Memory | III. |Memory of riding a bicvcle

Visual memory for short span of
time

o [of=] »

Episodic Memory | IV.

Choose the correct answer from the options given below:

1. (A)- (D), (B) - (II). (C) - (IID), (D) - (IV).
2. (A)- (1), (B) - (III), (C) - (1I), (D) - (IV).
3. (A) - (). (B) - (1), (C) - (IV), (D) - (I1I).
4. (A) - (II). (B) - (IV). (C) - (I). (D) - (I)

Options :

68019135697. 1
68019135698. 2
68019135699. 3
68019135700. 4

Question Number : 50 Question Id : 6801919061 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T Y11 SR g1

I I
A |dfcrorers Wia| 1 |HEeE & 9ad el 'R
B [dad Wi I [U% e &l Hid
c |sefmawfa | [asfea aan @t wfa
D nEfEm i |1V [og v9a & i ezn wfa

oy

4 f3U T fae el & 9 9el SR TH|

1. (A)- (D). (B) - (II). (C) - (III), (D) - (IV))

2. (A)- (D), (B) - (III), (C) - (ID), (D) - (IV).
3. (A) - (D). (B) - (I). (C) - AV). (D) - (IID).
4. (A) - (II). (B) - AV). (C) - (1). (D) - (1)



Options :

68019135697. 1
68019135698. 2
68019135699. 3
68019135700. 4

Question Number : 51 Question Id : 6801919062 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Parul remembers things from the past very well but cannot incorporate present events into her
memory. She is suffering from :

1. Retrograde Amnesia

2. Proactive Interference
3. Retroactive Interference
4. Anterograde Amnesia

Options :

68019135701. 1
68019135702. 2
68019135703. 3

68019135704. 4

Question Number : 51 Question Id : 6801919062 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

R Sl 1 <l &I §gd 37w ke 9 J16 ! § ¢l aqH gc1sf d 3o+ W o
SR T o el 31 75 i &

1. 3METAgd Wida
2. AL AHRARIY
3. qaisll SRRIY
4, TR Wi

Options :




68019135701. 1
68019135702. 2
68019135703. 3

68019135704. 4

Question Number : 52 Question Id : 6801919063 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
Theory of o E
Motivation Key Assumptions
A \Diive Theasv I Beha‘;mr is 'pulled’ by expectation of
: desired outcomes
Biological needs produce unpleasant
B. |Arousal Theory | I |states of arousal which people seck to
reduce.
. |Expectancy Setting specific and challenging but
C. I1I1. . . S
Theory attainable aims and objectives.
ey T General level of activation varies
D. = IV. |throughout day which can motivate
Theory 5 - :
: many forms of behavior.

Choose the correct answer from the options given below:

(A) - (1), (B) - (I1), (C) - (11I), (D) - (IV).
(A) - (1). (B) - (111). (C) - (1I). (D) - (IV).
(A) - (ID). (B) - (IV). (C) - (D). (D) - (111).
.(A) - (IIT), (B) - (IV). (C) - (1), (D) - (II).

fag b2 —

e

Options :

68019135705. 1
68019135706. 2
68019135707. 3
68019135708. 4

Question Number : 52 Question Id : 6801919063 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1

Yel-1 BT Y=I-11 & Ty fHe & -
Gl T I
RN &1 fagid T SifTE
ot ; gifesd GRUMH! &1 UdT< ¥ aeR 3l
- Rigld | 1 Wi 9l &
Sidd HaGHdId Jale B A
B. |3<iom fagid | 1. |erawt 3ad &l & o anl &H
S AR B

_ : fafay ok e e weat
C. | il | IO 3R Il &l FYia &1

fgraur &1 g TR o 89 & GRE
D. %&;?w V. |GGl 36 & U €1 U8 &% UPR &
TdeR &1 URD & 9&dl 5
19 feu e fdw el O 9§ 981 S I |

L. (A) - (I). (B) - (II). (C) - (IIT). (D) - (IV)
2. (A) - (D), (B) - (T11). (C) - (I). (D) - AV).
3. (A) - (II). (B) - (IV). (C) - (I). (D) - (I1I).
4. (A) - (III). (B) - (IV). (C) - (D). (D) - (11).

Options :

68019135705. 1
68019135706. 2
68019135707. 3

68019135708. 4

Question Number : 53 Question Id : 6801919064 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
(Theory of Emotion) (Basic Assumptions)

Emeotional reactions to a stimulus are
Cannon-Bard

A i [. |followed automatically by an opposite
Theory :
; reaction.

Emotional states are determined by the
II. |cognitive labels attached to feelings of
arousal

James-Lange
Theory

Subjective emotional experience results
. |from physiological changes within our

C Schacter- Singer m

" |Theory
: body.
Emotion provoking events induce
simultaneous subjective
Opponent

IV. |experiences which are labelled as
emotions, and the physiological
experiences that accompany them.

Process Theory

Choose the correcr answer trom the options given below:

(A) - (I). (B) - (I1). (C) - (TII), (D) - (IV)
(A)-(IV). (B) - (IIT). (C) - (II). (D) - (I)
(A) - (I). (B) - (I1), (C) - (TV). (D) - (IIT)
4. A) - (IID). (B) - (IV), (C) - (I). (D) - (II)

2 =

L]

Options :

68019135709. 1
68019135710. 2
68019135711.3

68019135712. 4

Question Number : 53 Question Id : 6801919064 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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L. (A) - (I}, (B) - (IL), (C) - (IIT), (D) - (1V)
2.(A)-(1V),(B)-{I), (C) - (11), (D) - (I)
(A) - (I). (B) - (I1). (C) - (IV). (D) - (III).
4. A) - (111). (B) - (IV). (C) - (I). (D) - (II).

s

Options :

68019135709. 1
68019135710. 2
68019135711. 3
68019135712. 4

Question Number : 54 Question Id : 6801919065 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following best describes Erikson's developmental theory?

1. Four Stages of Psychosexual Development
2. Eight Stages of Psychosocial Development
3. Four stages of Cognitive Development
4. No stages. Development 1s Continuous

Options :

68019135713. 1



68019135714. 2
68019135715. 3

68019135716. 4

Question Number : 54 Question Id : 6801919065 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frafafad ¥ 9 o 9 tRegH & fAeas Rigid &1 96 331 auH $dl 67

1. T T & IR =R
2. FAHIE (@™ & 316 T30
3. FTED [GHH & IR 907

4. Pig RO Tal. fAH § ARG 8t ©

Options:

68019135713. 1
68019135714. 2
68019135715. 3
68019135716. 4

Question Number : 55 Question Id : 6801919066 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Harry Harlow's study on baby monkeys indicate that attachment formation is related to :

1. Tactile Sensation
2. Nourishment

. Size of the the " Mother"
4. Direction of Growth

L]

Options:

68019135717. 1
68019135718. 2
68019135719. 3
68019135720. 4



Question Number : 55 Question Id : 6801919066 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

4 BTt o R aeRl W 3remn A Wabd firaar & o amng o1 i 3od defa &

1. W Gde
2. GIS0]

3. Ol BT AHR
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Options :

68019135717. 1
68019135718. 2
68019135719. 3

68019135720. 4

Question Number : 56 Question Id : 6801919067 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A parent who fails to set firm limits on age appropriate behavior required for a young child
would be using which parenting style?

1. Authoritarian

2. Authoritative

. Permissive

4. Disciplinarian

L S]

Options :

68019135721. 1
68019135722. 2
68019135723.3

68019135724. 4

Question Number : 56 Question Id : 6801919067 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

% HId1- a1 Sl U 1 e & {70 311 TUGar] oAaeR &g S1avde 2g i e o
T} fawd ¥5d ©, d o Te-urmun el 1 SuaiT ad 6?2

Options :

68019135721. 1
68019135722. 2
68019135723.3

68019135724. 4

Question Number : 57 Question Id : 6801919068 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A child whose actions are motivated by an avoidance of pumishment shows which level of moral
development?

1. Preconventional
2. Conventional

3. Postconventional
4. Unconventional

Options:

68019135725. 1
68019135726. 2
68019135727.3

68019135728. 4

Question Number : 57 Question Id : 6801919068 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1

TP o o a1 &8 ¥ g9 F 3 811 €. 98 A o & P T m g e
1. QORI
2. R
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Options:
68019135725. 1
68019135726. 2
68019135727.3
68019135728.4

Question Number : 58 Question Id : 6801919069 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
Theory Scholar
Pevchosexual Perspectives [. |Erikson
Psychosocial Theory II. |Festinger

Moral Development Theory | II1. |Freud

ofa[w[w

Cognitive Dissonance Theorv| IV, |Kohlberg

Choose the correcr answer from the options given below:

(A) - (I). (B) - (I1). (C) - (III), (D) - (IV).
. (A) - (D). (B) - (11I). (C) - (11). (D) - (IV).
(A) - (1), (B) - (I1). (C) - (IV). (D) - (I1I).
4. (A) - (IID), (B) - (I). (C) - (TV). (D) - (II)

fag B2 —

Options :

68019135729. 1
68019135730. 2
68019135731.3

68019135732. 4



Question Number : 58 Question Id : 6801919069 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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L. (A)-(I). (B) - (II). (C) - (III). (D) - (IV)
2. (A) - (1), (B) - (TIT). (C) - (I), (D) - (IV).
(A) - (I). (B) - (I1). (C) - (IV), (D) - (1II).
4. (A) - (II). (B) - (I). (C) - (IV). (D) - (II)

L]

Options :

68019135729. 1
68019135730. 2
68019135731. 3

68019135732. 4

Question Number : 59 Question Id : 6801919070 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The Coguitive Behavior Therapy proposed by Beck, proposes the following trajectory of illness :
(A).Illogical 1deas e.g. tendency to overgeneralise setbacks

(B).Depression

(C)Negative behavior in terms of 1deas and thoughts

(D).Negative affect

Choose the correct answer from the options given below:
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Options :

68019135733. 1
68019135734. 2
68019135735. 3
68019135736. 4

Question Number : 59 Question Id : 6801919070 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

S ERI TEIad SYes ddeR it dmR & Fafiad vauas o1 wwie ol 6
(A) ThaTg] [daR, TETERI & oY, sRIwaaie] &l sifaumiied B &l Yok

(B) 391G
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Options :

68019135733, 1
68019135734. 2
68019135735. 3

68019135736. 4

Question Number : 60 Question Id : 6801919071 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Central Traits, Cardinal Traits and Secondary Traits were prominent in the trait theory of:

1. B. F. Skinner
2. Hans Eysenck
3. Gordon Allport
4. Carl Rogers



Options :

68019135737. 1
68019135738. 2
68019135739. 3

68019135740. 4

Question Number : 60 Question Id : 6801919071 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
et STeRu, T ST 3R fgadras e --- & iiaru gid d vy o
1.9 TP e R
ll %§ oy "
3. 715 aifqare
4, BT A
Options :
68019135737. 1
68019135738. 2
68019135739.3

68019135740. 4

Question Number : 61 Question Id : 6801919072 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The descriptive statistics based on test scores of representative groups of individivals 1s called:

1. Z scores

2. Norms

3. Reference Statistics
4. Standard Scores

Options :
68019135741. 1

68019135742. 2



68019135743. 3
68019135744. 4

Question Number : 61 Question Id : 6801919072 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
m@gmﬁmﬁﬁﬁuﬁﬁﬁwﬁ%qﬁwwﬁw SR B 6.
HEal! 6:

1. 918 UTdid

2. HHd

3. Ty gifenat

4. HId Uldld
Options :
68019135741. 1
68019135742. 2
68019135743. 3

68019135744. 4

Question Number : 62 Question Id : 6801919073 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which of the following 1s least likely to be included in Binet intelligence test?

1. Color Diserimination

2. Vocabulary Size and Fluency

3. Verbal Comprehension

4. Recognition and Naming of Familiar Objects

Options :

68019135745. 1
68019135746. 2
68019135747. 3

68019135748. 4



Question Number : 62 Question Id : 6801919073 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFrafafad o 9 foge [ g glieon & nfie 519 &1 GHTaT 968 &1 g2

1. 3 f[ayeA
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Options :

68019135745. 1
68019135746. 2
68019135747.3
68019135748. 4

Question Number : 63 Question Id : 6801919074 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Unlike the Standford- Binet, the Weschler test provides:

. Ratio IQ

. Separate Verbal and Performance Scores
. A single IQ Score

4. Cognitive and Affective Scores

|

L]

Options :

68019135749. 1
68019135750. 2
68019135751. 3

68019135752. 4

Question Number : 63 Question Id : 6801919074 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019135749. 1
68019135750. 2
68019135751. 3

68019135752. 4

Question Number : 64 Question Id : 6801919075 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

What do intelligence tests successtully predict?

1. Financial Success

2. The ability to win Prestigious Scientific Awards
3. College Grades

4. Happiness

Options :

68019135753. 1
68019135754. 2
68019135755. 3

68019135756. 4

Question Number : 64 Question Id : 6801919075 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

o b2 —

68019135753. 1
68019135754. 2
68019135755. 3

68019135756. 4

Question Number : 65 Question Id : 6801919076 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Monica's therapist asks her to invent a story for each of several pictures hanging on the office
wall. The pictures are snapshots of people and have no obvious meaning. This therapist's
technique 1s most similar to that used in :

1. Rorschach Inkblot Test

2. MMPI

3. TAT

4. Strong Campbell Interest Inventory

Options :

68019135757. 1
68019135758. 2
68019135759. 3

68019135760. 4

Question Number : 65 Question Id : 6801919076 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019135757. 1
68019135758. 2
68019135759. 3
68019135760. 4

Question Number : 66 Question Id : 6801919077 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is a common symptom of neurosis?

1. loss of contact with reality
2. high anxiety

3. immoral behaviour

4. hallucinations

Options :

68019135761. 1
68019135762. 2
68019135763. 3

68019135764. 4

Question Number : 66 Question Id : 6801919077 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019135761. 1
68019135762. 2
68019135763. 3

68019135764. 4

Question Number : 67 Question Id : 6801919078 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which kind of intelligence represents the accumulation of abilities gained through formal and
mformal structions?

1. flud

2. crystallized
3. sensorimotor
4. formal

Options :

68019135765. 1
68019135766. 2
68019135767.3

68019135768. 4

Question Number : 67 Question Id : 6801919078 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68019135765. 1
68019135766. 2
68019135767. 3

68019135768. 4

Question Number : 68 Question Id : 6801919079 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I wath List IT

tastd List-II
e Basic Nature
Mechanism i
A |Eepression 1. |retreating to earlier period of life

forgetting unacceptable thoughts or

B. |Regression I impulses

redirecting an emotional response from a

C. |Projection I11. : :
dangerous object to a safer one

v transferring unacceptable motives or

D. |Displacement i
impulses to others

Choose the correct answer from the options given below:

(A) - (1). (B) - (I1). (C) - (111). (D) - (IV).
(A) - (I), (B) - (III). (C) - (II). (D) - (IV).
(A) - (1). (B) - (I1). (C) - (IV). (D) - (I11).
4. (A) - (II). (B) - (I). (C) - (IV). (D) - (III)

|

a2

Options :

68019135769. 1
68019135770. 2
68019135771. 3

68019135772. 4



Question Number : 68 Question Id : 6801919079 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(A) - (). (B) - (ID). (C) - (I11). (D) - (IV).
-(A) - (I). (B) - (TII), (C) - (II). (D) - (IV).
(A) - (I). (B) - (ID). (C) - (IV). (D) - (III).
AA) - (). (B) - (I). (C) - (IV). (D) - (IIT)

faad o —

iy

Options :

68019135769. 1
68019135770. 2
68019135771.3
68019135772. 4

Question Number : 69 Question Id : 6801919080 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The characteristics of a fully functioning person are:

(A) aware of all experiences

(B) able to face difficulties

(C) inhibited and not free to make choices

(D) adapt to the changing environmental conditions.
Choose the correct answer from the options given below:

1.(A). (B). (C). (D)
2. (A). (B). (C) only
3. (A). (B). (D) only
4. (C). (B). (D) only

Options :

68019135773. 1
68019135774. 2
68019135775.3
68019135776. 4

Question Number : 69 Question Id : 6801919080 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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(A) T 3Fal ¥ 3faTTd BT
(B) Bio-2dl &1 JHAT B34 H T&H Bl
() STRIG BT & SR faded 97 & fog s 78T € ©
(D) Sead guiaRuig uRkfRfe & e gid §
- fau e o el O 9§ 981 SR 9|

1. (A). (B). (C). (D)

2. Hdd (A). (B). (C)
3. %dd (A). (B). (D)
4.$dd (C). (B). (D)

Options :

68019135773. 1
68019135774. 2
68019135775. 3

68019135776. 4



Question Number : 70 Question Id : 6801919081 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Arrange the correct sequence in Simple Random Sampling:

(A).Select 'n' cases randomly (with the help of fishbowl method or a random number table)
(B).Determine the Size of the Present Population

(C).Decide on the Sample size (n)

(D).Identify sampling units i the population.

Choose the correct answer from the options given below:

(A). (B) ()()
(B)(U(C]

(B)(A()()
4.(C). (B). (D). (A)

L.
1

Options:

68019135777. 1
68019135778. 2
68019135779.3

68019135780. 4

Question Number : 70 Question Id : 6801919081 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68019135777. 1
68019135778. 2



68019135779. 3
68019135780. 4

Question Number : 71 Question Id : 6801919082 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTIT
Scale of Ekik
Measurement P
PO | p I Division of people on the basis of

their Socio Economic Status

Diagnostic groups of Mental

B. |Ordinal II. Pt
C. |Interval III. |[Measurement of weight
D. |Ratio v Measurement of temperature on a

centigrade scale.

Choose the correcr answer from the options given below:

(A) - (1). (B) - (I1). (C) - (III). (D) - (IV)
(A) - (II). (B) - (I). (C) - (IV). (D) - (IIT)
(A) - (1), (B) - (1), (C) - (IV), (D) - (II)
(A) - (1), (B) - (IV). (C) - (I). (D) - (II).

fag B2 —

e

Options :

68019135781. 1
68019135782. 2
68019135783.3

68019135784. 4

Question Number : 71 Question Id : 6801919082 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. (A) - (I). (B) - (1), (C) - (II), (D) - (IV)
2. (A) - (II), (B) - (1). (C) - (IV). (D) - (IIT)
3. (A)-(I). (B) - (IT). (C) - (IV). (D) - (III)
4. (A) - (IID), (B) - (IV). (C) - (). (D) - (II).

Options :

68019135781. 1
68019135782. 2
68019135783. 3

68019135784. 4

Question Number : 72 Question Id : 6801919083 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The Assumptions of Parametric Statistics are:

(A). Population should be normally distributed

(B). Variables should be measured in Interval and/or Ratio Scale
(C). There should be many outliers

(D). Data should be based on Probability Sampling

Choose the correcr answer from the options given below:

1. (A). (B) and (D) only
2. (A). (B) and (C) only
3. (A). (B). (C) and (D)
4.(B). (C) and (D) only

Options :
68019135785. 1

68019135786. 2



68019135787. 3

68019135788. 4

Question Number : 72 Question Id : 6801919083 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

U 9iRed! & IS TH UPR &
(A) SERs O =9 I faafd gi-t a1igu
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1. %ad (A), (B) 3R (D)
2.%ad (A). (B) 3R (C)

3. (A). (B). (C) 3R (D)
4.%ad (B), (C) 3R (D)

Options :

68019135785. 1
68019135786. 2
68019135787. 3

68019135788. 4

Question Number : 73 Question Id : 6801919084 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LIST1I LISTII
Theory Proposed By

'g' Factor Theory [. |Guilford

Heirarchical Theory| II. |Spearman

Multifactor Theory | IIL |Vernon
Cubical Model IV. | Thurstone

ofa[w]»

Choose the correcr answer from the options given below:

1. (A) - (I). (B) - (IT). (C) - (IT), (D) - (IV).
2. (A) - (I). (B) - (1II). (C) - (II). (D) - (IV).
3. (A) - (). (B) - (IIT). (C) - (IV). (D) - (I)
4. (A) - (IID). (B) - (IV). (C) - (). (D) - (ID).

Options :

68019135789. 1
68019135790. 2
68019135791. 3
68019135792. 4

Question Number : 73 Question Id : 6801919084 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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1. (A) - (I). (B) - (1I). (C) - (III). (D) - (IV)
2. (A) - (). (B) - (111). (C) - (I1). (D) - (IV).
3. (A) - (1I). (B) - (IIT). (C) -(IV). (D) - (I)
4. (A) - (II1). (B) - (IV). (C) - (I). (D) - (11).

CIRIEE

Options :



68019135789. 1
68019135790. 2
68019135791. 3

68019135792. 4

Question Number : 74 Question Id : 6801919085 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A sudden and extreme disturbance of memory in which individuals wander off. adopt a new
identity. and are unable to recall their own past 1s known as:

1. Dissociative amnesia
2. Hypochodriasis

3. Conversion Disorder
4. Dissociative fugue

Options :

68019135793. 1
68019135794. 2
68019135795. 3
68019135796. 4

Question Number : 74 Question Id : 6801919085 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019135793. 1



68019135794. 2
68019135795. 3

68019135796. 4

Question Number : 75 Question Id : 6801919086 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
Erikson's Developmental Task Developmental Stage
A |Autonomy vs Shame and Guilt | 1. |Late Adulthood
B. |Initiative vs Guilt II. |Toddler
C. |Generativity vs Stagnation III. |Early Childhood
D. |Ego Integrity vs Despair IV. | Middle Adulthood

Choose the correct answer from the options given below:

1. A-IL. B-II. C-III. D-IV
2. A-II. B-III. C-IV. D-I
3. AL B-TV, C-I1, D- 1
4. A-IV. B-1. C-II. D-III

Options:

68019135797. 1
68019135798. 2
68019135799. 3

68019135800. 4

Question Number : 75 Question Id : 6801919086 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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3. A-IIL B-TV. C-IT, D- 1

4. A-IV, B-L, C-11. D-III
Options:

68019135797. 1

68019135798. 2

68019135799. 3

68019135800. 4




